Question No : 1 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

I ME or 1 megabyte is equivalent to-—

P

Answer | Please select your correct option )

1024 bytes
o
10242 bytes
o
10242 bytes
&
1000000 bytes Correct Answer Solved By Hadi
- | usmanrai20@email.com -
03228043306 mdde BS‘: maqﬂr Sldd]‘[ll




Question No : 2 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

L system collects physically separate, possibly heterogeneous, systems into a single coherent system, providing the user with access to the various resources that the
system maintains

Answer | Please select your correct option )

Distributed Correct Answer Salved By Hadi
= T
Realtime
o
Single user
(.
Time-sharing
(- -
Weade By: Wacger Siddhu




Question No : 3 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

............ has a hierarchical file system structure.

P

Answer | Please select your correct option )

DS
P
Windows
~
UG
(o] Correct Answer Solved By Hadi
usmanraj20@email com
03228043306
Mone of the given aptians
(- -
Weade By: Wacger Siddhu




Question No : 4 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Round-Robin Scheduling is a

scheduling algorithm

P

Answer | Please select your correct option )

~

Preemptive

Corract Answer Solved By Hadi
usmanraj20@email.com
03228043306

nor-preemptive

Preemptive or non-preemptive.

MNone of the given options

Yede By: Wedger Siddhu




Question No : 5 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

A prece of code i a cooperating process in which the process may
update shared data is called--------—ommcmmeev

P

Answer | Please select your correct option )

Buffer
P
Critical section Correct Answer Solved By Hadi
L8 usmanraj20@gmail.com
03228043306
Semaphotre
-
None of the given options
(- -
Weade By: Wacger Siddhu




Question No : 6 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The Swap mstruction which 15 the hardware solution to synchromzation problem does not sahsfy the

condition, hence not considered to be a good solubon

Answer | Please select your correct option )

~

Progress

Bounded waiting

Correct Answer Solved By Hadi
usmanraj20@gmail com
03228043306

utual exclusion

None of the given

Yede By: Wedger Siddhu




Question No : 7 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

A is apiece of code in a cooperating process in which the process may
updates shared data (variable, file, database, ete.).

P

Answer | Please select your correct option )

~

critical section

Correct Answer Solved By Hadi
usmanraj2l@email.com
03228043306

critical region

monitor

all of the given are correct

Yede By: Wedger Siddhu




Question No : 8 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Semaphore is a solubon to the synchromzation problems.

P

Answer | Please select your correct option )

Operating system Correct Answer Sclved By Hadi
o] usmanraj20@gmail.com
03228043306
Software
~
Hone of the given
-
Hardware
(- -
Yede By: Wedger Siddhu




Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

In Unest Lanne, by default the standard mput file 15 attached to the

P

Answer | Please select your correct option )

louse
P
Eeyboard Correct Auswer Solved By Hadi
o TV
Light pen
-
Joystick
(- -
Yede By: Wedger Siddhu




Question No : 10 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

P

The =emmmammmeeaeaee are used for communication between related or unrelated processes on the same systemn or unrelated processes on different systems.

Answer | Please select your correct option )

None of the given
o
55D socket
o
DSD socket
(.
BSD sockets Correct Answer Solved By Hadi
- usmanraj20@gmail.com =
S Weade By: Wacger Siddhu




Question No : 11 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

P

The files which are automatically opened by the kernel for every process for the process to read its input from and send its output and error messages are

Answer | Please select your correct option )

None of the given
P
Standard File descriptors
~
File descriptors
-
Standard files
o Correct Answer Solved By Hadi -
wmenizemion Yoeldd@ By: Weagear Siddhu




Question No : 12 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

Bounded Buffer is a buffer of size =

Answer | Please select your correct option )

WVariable
o
Fixed
e Correct Answer Solved By Hadi
usmanraj20@gmail.com
03218043306
Both
A
MNone of the given
(- -
Weade By: Wacger Siddhu




Question Mo : 13 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The goal of single user operating system 1s

P

Answer | Please select your correct option )

To mazrmire uhlization of CPTT
P
To mairize the user responsiveness
~
To mairmize utilization of peripheral devices sk e R ey
o usmanraj20@gmail.com
03228043306
To mawirmire throughput
(- -
Weade By: Wacger Siddhu




Question No : 14 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

“Which type of operating systemn guarantees that cnitical tasks must be completed on tune?

P

Answer | Please select your correct option )

~

Timeshanng system

Multitasking system

Batch system

Realtime system
Correct Answer Solved By Hadi
usmanraj20@gmail.com
03228043306

Yede By: Wedger Siddhu




Question Mo : 15 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

“Which of the followmg command 15 used to read data from file named academcs?

P

Answer | Please select your correct option )

con < acadernics
P

cat < academics Corract Answer Solved By Hadi
-~ usmanraj20@email.com

03228043306

socket = acadetnics
-

ran > academics
(- -

-
Yede By: Wedger Siddhu




Question No : 16 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

command puts a foreground process mto background.

P

Answer | Please select your correct option )

fz
P
be Correct Answer Sclved By Hadi
8] usmanraj20@gmail.com
03228043306
Ctrlz
-
None of the given
(- -
Weade By: Wacger Siddhu




Question No : 17 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

L= I &

time 1 3 103
Grven the gantt chart, which one of the following is average waiting time

Answer | Please select your correct option )

35,66
.
1.33 i
- Correct An.iw,e_’ Suh.'ad By Hadi
usmanraj20Zemail.com
03228043306
3466
.
2.33
(- -
Yede By: Wedger Siddhu




Question Mo : 18 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

is solution to the problem of indefinite blockage of low-priority processes.

P

Answer | Please select your correct option )

~

Aging Corract Answer Solved By Hadi
usmanraj20@gmail.com
03228043306
Starvation
Deadlock

Hone of the given

Yede By: Wedger Siddhu




Question No : 19 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

P

The part of machme level mstruction, which tells the central processor what has to be done, 15

Answer | Please select your correct option )

Address
P

Locator
~

Flip-Flop
-
5 Operaticn code Correct Answer Solved By Hadi

usmanraj20@gmail.com -
. Yhade By: Wdadgelr Siddha




Question No : 20 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

“Which of the followmg statements 15 false?

Answer | Please select your correct option )

Two diferent crifical sections may be executed concurrently if they do not use the same shared vaniables
P
Programs with critical sections can never be uzed simultaneously by more than one process
-~
Hone of the given
-
A process wanting to enter a critical section currently in use must wait for the process utilizing the critical section to terminate.
(- -
Wede By: Wacger Siddhu




Question No : 21 of 26 Marks: 2 (Budgeted Time 4 Min) (=]

~

A number of queues can be used m the Mulh Level Quene and Mulhlevel Feedback Queue. Tou need to identify any three queues that you can use in a Multlevel Feedback Queue

Answer | Please click here to Add Answer )

O E S| e e & e o=
[riormal =] [ara | =

, Yede By: Wadgelr Siddhu




Question No : 22 of 26 Marks: 2 (Budgeted Time 4 Min) (=]

~

“Which term 15 best suited for a process that 15 a background system process and that provide you some service.

Answer | Please click here to Add Answer )

O E S| e e & e o=
Jtiarmal I | =2 =ie g g‘

, Yede By: Wadgelr Siddhu




Question No : 23 of 26 Marks: 3 (Budgeted Time 6 Min) (=]

~

Sort out the given below Scheduling algonthms with respect to there best utihzation of CPT (arrange m order low to ugh).

0. First In First Out
1. Prionty based schedulmg
2. Multlevel Queue schedulng

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12 ;I B 7 Q‘E =i

, Yede By: Wadgelr Siddhu




Question No : 24 of 26 Marks: 3 (Budgeted Time 6 Min) (=]

~

“Which term 15 best suited for the situation where several processes access and marmpulate shared data concurrently, the final value of the data depends on which process fishes last?

Answer | Please click here to Add Answer )

O E S| e e & e o=
[riormal =] [ara | =

, Yede By: Wadgelr Siddhu




Question No : 25 of 26 Marks: 5 (Budgeted Time 10 Min)  [=]

R

Semaphore is a variable or absiract data type that provides a simple but useful abstraction for controlling access by multiple processes to a common resource in a
paralle]l environment. We can use semaphores to deal with the n-process eritical section problem. You have to explain the working of Semaphore Algorithm.

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12 ;I B 7 Q‘EE

===+
=== 2

, Yede By: Wadgelr Siddhu




Question No : 26 of 26 Marks: 5 (Budgeted Time 10 Min)  [=]

-

Considering the resource sharng feature of threads, what do you think 13 “resource shanng’ an advantage of a thread or disadvantage of a thread. State your answer briefly with strong argument.

Answer | Please click here to Add Answer )

O E S| e e & e o=
[riormal =] [ara | =

, Yede By: Wadgelr Siddhu






